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QUESTION 1

The following DDL statements are executed to create the following objects: CREATE TABLESPACE TS1
BUFFERPOOL BPO IN DB1; CREATE TABLE USER1.TB1 ( COL1 INTEGER, COL2 VARCHAR(10) ) IN DB1.TS1;
CREATE INDEX USER1.1X1 ON USER1.TB1 ( COL2 ) BUFFERPOOL BP0 COPY YES; Next, the following ALTER
statements are done (in order): 1) ALTER TABLESPACE DB1.TS1 BUFFERPOOL BP8KO MAXPARTITIONS 20; 2)
ALTER TABLESPACE DB1.TS1 SEGSIZE 64; 3) ALTER INDEX USERL1.1X1 BUFFERPOOL BP16K0; Which of the
following will materialize all of the changes with the least amount of work?

A. Nothing needs to be done.

B. REORG INDEX USER1.1X1 SHRLEVEL CHANGE

C. REORG TABLESPACE DB1.TS1 SHRLEVEL REFERENCE

D. REORG TABLESPACE DB1.TS1 SHRLEVEL REFERENCE REORG INDEX USERL1.1X1 SHRLEVEL CHANGE

Correct Answer: C

QUESTION 2

Which DSNZPARM will define the number of RID Blocks in the RID Pool?
A. NUMTCB

B. MAXRBLK

C. CONDBAT

D. URLGWTH

Correct Answer: B

QUESTION 3

You have been asked to find packages that use isolation level UR in dynamic SQL. Which trace will be utilized?
A. Audit trace class(4)

B. Monitor trace class(6)

C. Performance trace class(3)

D. Accounting trace class(1,2,3,7,8)

Correct Answer: C

QUESTION 4
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The application will be handling a large volume of input data that will need to be added to or update 4 different tables.
On average, there will be 50 million input records daily. To ensure that the application process to SQL INSERT and SQL
UPDATE(or SQL MERGE) delivers a high level of availability to the tables involved in this application process, what is a
key component of the application coding?

A. Issue a LOCK TABLE for all 4 tables.

B. Execute the SQL INSERT before the SQL UPDATE.

C. Provide an effective commit / restart process.

D. Run a QUIESCE utility before the process starts.

Correct Answer: C

QUESTION 5

What DB2 command when issued displays what migration mode the catalog is in?
A. DSNC DISPLAY

B. DISPLAY GROUP

C. MODIFY irlmproc,STATUS

D. DISPLAY DATABASE (DSNDBO06)

Correct Answer: B
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